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Pace A
OBJECTIVES

The student should know that the vord "quotient"

indicates the operation of division.

The student should be able to divide a fraction
of the form a/b, where 0<(a,b)<100, by a posi-
tive integer less than 100.

The student should be able to divide a fraction
cf ihe form a/b by a fraction of the form c/d,

where 0< (a,b,c,d)<100.

The student shouid be able %o divid2 mixed numbers
by mixed numbers where the mixed numbers are of

the form X a/b and 0<£(x,a,b)<.100.

The student should be able to divide literal

fractions.

The student should be able to divide any combina-
tion of the letters, fractions, integers, and

mixed numbers listed above.




Page B

tings! VYou are about to begin improving your knowledge
asic mathematics. There are many important uses for the
mathematics you are learning.

This booklet is not like your ordinary books. It is designed
to heip you learn as an individual. On the following pages
you will find some information about mathematics. After the
information is presented, you will be asked a question. Your
answers to these questions will determine how you proceed
through this booklet. When you have selected your answer

to the question, turn to the page you are told to.

Do not write in this booklet. You may wish to have a pencil
and some paper handy so you can write when you want to.

Remember this is not an ordinary book.
1. Study the material on the page.

2. Read the question on the page (you may want to
restudy the material on the page).

3. Select the answer you believe is correct.

4. Turn to the page indicated by your answer.

Are you ready to begin?

(a) VYes Turn to page 1
(b) Mo Turn to pace C

(c) HELP Go see your teacher

v O N
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Page C

Your answer was (b) No.

Well, this booklet is a 1ittle different.

Go back and read page B again. After you have read it,

you will probably be ready to begin.




Faae 1 ,

[ SPRP O

Heilo. Do you have trouble finding the quotient of

two fractions? This unit on division of fractions is

U

for you.

Let's begin by asking a fov simple questions concerning

the division of fractions.

\that is the quotient when e divide 12 by 4?

(a) 12 Turn to page 5
(b) 4 Turn to pace 2
(¢) 3 Turn to page 3




Page 2

Incorrect,

1

' In the problem of 12 divided by 4, the ansver is 3.

f Mow 12 is called the dividend, the 4 is called the %

S divisor, and the answer is called the guotient. :

| |
2

: Example: 10 £ 5 =2, and 2 1s the auotient. §

g Another: 12/3 = 4; and, in this case, the 4 is the

g quotient.

What is the quotient of 14 divided by 7?

? (a) 7 Turn to pace 4

j (b) 2 Turn to pace 3 |

|

i‘* |

; |

| i
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Page 3

That's correct:

Howr continue.

T e

i
E - What is the quotient of 2/3 + §/7?
g
% (a) 1415 Turn to page 18 ]
: (b) 10/21 Turn to page il f
j (c) Help Turn to page 15

i
o




Pace 4

iHo.

7 is the divisor and 14 is the dividend.

Go back to page 2 and try acain by reading the pre-
ceding infermation carefully before ansvering the

question.

prEay




Page 5

In the problem of 12 divided by 4, the answer is 3.
ilow 12 is5 called the dividend, the 4 is called the

divisor, and the answer is called the quotient.

Example: 10 ¢+ 5 = 2, and 2 is the quotient
Another: 12/3 = 4; and, in this case, the 4 is the

quotient.

Jhat is the quotiont of 14 divided by 7?

(a) 7 Turn to page 4
(b) 2 Turn to page 3

LTI e A

ERIC
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Page 6

$o far so good: ilcvw...

The only thing you can multiply a fraction by and

not change its value is 1 (one).

Therefore,
23 3 .y .23 ()
7 e akiie okl /it
Uhat number goes in the (D ?
(a) 1/2 Turn to page 15
(b) 2/3 Turn to page 7

(c) 2 Turn to page 10
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Page 7

2/3 doesn't equal one {1).

Go back tec page 6 and try again.




Page 8

4/5 is the correct ansver.

5/8 ¢+ 5/2 = ?

(a) 4

(b) 1/4
(c) Help
(d) 25716

Turn to page 75
Turn to pace 18
Turn to page 15
Turn to page 9

a4 o At AP N T A S SRR = T
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Page 9

You muitipiied instead of dividing:

Go back to page 8 and try again.

M U ———s A et ¥ A% e &




Page 10

2/3 2/3 2 _2/3x2 _
V2SN X ek !
(a) _ﬂéé_ Turn to page 22
(b) —%%%- Turn to page 28

(c) 1/3 Turn to pace 1°

s LA A A A AN
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Page 11

Incorrect.

Let's see how the problem was worked.

e 213 _ 2/3x7/5 _ 2/3x2/5
AR U 7/ 7/ 0 /-

2/3 x 7/5 = 14/15.

tlotice that division of fractions is just reducing

a complex fraction.

Let's see if you can work one now.

3/5 + 2/3 =27

(a) 10/¢ Turn to page 16
(b} 9/10 Turn to page 13
(c) Heip Turn to page 15




Page 12

Good, 2/3 x 1/5 is correct.

S0, 2/3 +5=2/3x1/5=27 a

(a) 10/3 Turn to page 24

(b) 2/15 Turn to page 50 |
(c) 2/8 Turn to page 34




Page 13

That is correct!

Let's do another problem.

%
o
B
3
>,
M

2/3 & 5/6 = ?

4 (a) 4/5 Turn to page 8
1? (b) 574 Turn to page 16
(c) 5/9 Turn to page 15




Page 14

Incorrect.

Dividing by 2 is the same as dividing by the fraction
2/1. Hence,
4/7 + 2 = 4/7 + 2/1 = &4/7 x 1/2 = 414 = 2/7.

Find 2/3 = 3.

{a) 2 Turn to page 15
1) 2/9 Turn to page 50




Page 15

A Procedure for Division of Fractions

As a link to the unit on nuitiplication, iet us consider

the model for hov many objects there would be in 1/4 of

a set of 12 objects. This couid be done by taking the

12 objects and dividing the set into 4 equal parts.

(See figure at the right.)

From this, it is plain to

5 see that 1/4 of 12 is 3. /
N A A A
i fa < g4 a 4 4 a4

' [model for 1/4 x 12
However, we should also note and for 12 < 4]

that this model illustrates
12 = 4 as well.

Continued on next page

!
:
:

4

]
-~
o3




Quastion:

(a)

O e

Page 15

continued

60O

thich model shows 1/5 of 107

(b)

(c)

Answvers:

(a)
(b)
(c)
(d)

Turn to page 25
Turn to page 30
Turn to page 21

Turn to pace 30

(d)

N

N\

%b\‘\




Pace 16 3

Hope. ‘'rona one.

Let's take a closer look at division.

2/3 ¢ /2 = the fractinn:

(a) -%%%— Turn to page 17
(b) -%%%—- Turn to page 15

ERIC

Full Tt Provided by ERIC.




Page 17 § %
! ]
%
% :
E »
. 2/3 i
Good: 273 2 1/2 eguals the Traction ];2 . ; ;
% g
: 8
; §
?
K '.
1
i !
|

£ e e Smade s

ilowr, how can we made the denominator become one (1)?

(a) Help Turn to page 15
(b) Just change the 2 to 1 Turn to page 15
(c) ltultiply by its reciprocal Turn to page 6

(d) I don't know what a reciprocal
is Turn to page 100

L e s ot £ N A 0 BT A b T e Vit s s o S ek e W o &




Page 18

That's correct. You‘re doing very well!

How, what is 9/10 = 3/5?

Bk Ll

(a) 2/3 Turn to page 27 |

X %
; (b) 3/2 Turn to page 40 ;
(c) 45/30 Turn to page 38 |

%

|

|

j
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Paae 19

You didn't multiply corractly.

Yhat happened?
(a) I made a careless mistake

(b) I need a little help with
multiplication of fractions

Turn to page
10 and try agein

Go to Unit € and
review multiplicatio:
of fractions

- AL o A v ¢ A miant kel Bi e w3 d
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Page 20

Urong.

Division of any number by one leaves it unchanged.

Examples: 5 :1=5

21 1/2 =+ 1 = 21 1/2

2/5 + 1 =2/5

So what is 4/3 divided by one?

Go back to page 22 and do the problem again.

N A & e et




Page 21

I'm afraid you don't understand.

You should:
(a) Go ask your teacher for help and then come 5

back to page 15 i

OR

(b) Go back and reread page 15 and make another

choice.

o




Page 22

Very good.

tlow, what is 4{3 equal to as a simple frazhion? |

(a) 4/3 Turn to page 13

(b) 3/4 Turn to page 2C




Page 23
Mow Really.
This mode?l

AN ANANTAN

shows 5 equal sets of 5, which has a total of 25

objects. Therefore, this model illustrates 25

divided by 5.

~o back to page 25 and make another selection.

Nt L DL A Pt it 8




Page 24

Incorrect.

Surely you remember that to multiply fractions, we

take numerator times numerator, and denominator times

denominator.

Example:

n
x

4

2/3 x 4/7 = YT - 8/21.

]
4
]

Go back to page 12 and try again.
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Page 25

A NS e B A N et

You made the correct choice.

[ow, which model shows 10 &+ 5?

l2) 1 |

?Fb) (d)

(a) Turn to page 41

(b) Turn to page 23

preTER .

(c) Turn to page 55
(d) Turn to page 60

o
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Page 26

e~ s A &

Incorrect.

3 Does 1/2 x 10 = 10 x 2, and 1/7 x 14 = 14 x 7?

A . —— - L s X A - Wwdenr b s

(a) Yes Turn to page 68

N (b) No Turn to page 29 1

.
Ya
.
'
'
y
1
!
1
X
3
; :
.
2
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Incorrect.

Page 27

9/10 & 3/5 = -2/10 %5/3 = 45/30 = 3/2.

Mow try this one.

4/7 =+ 2/3 = ?

(a) 677
(b) 8/21
(c) 7/6

Turn to page 13
Turn to page 16

Turn to page S0

Je——
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Page 28

You didn't multiply correctly.

that happened?

(a) 1 made a carcless mistake Co to page 10 and try again

(b) I need & little help with multiplication of fractions
Go to Unit 6 and review multiplication
of fractions

ERIC

Full Tt Provided by ERIC.




Page 29

0.K. You realized that

5 was not equal to 20

and 2 was not equal to 98.

How, multiplying by 1/4 is the same as

by 4.

(ay dividing Turn to page 60

(b) multinlyving Turn to page €8

Fiios &




Page 30

Incorrect.

The model you chose shows 1/2 of 10. ilow we know

that 1/2 of 10 is not equal to 1/5 of 10, don't we?

Go back to page 15 and make another choice.
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Page 32

Incorrect.

You didn't read page 90 very w2ll. then we divide,

we multiply by the reciprocal.

The reciprocal of 5/7 is:

{a) 7/5 Turn tc page 90
(b) 5/7 Turn te pacge 793

(¢c) I don't know Turn to page 100

B CAn A s AL
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Page 33

S St

Incorrect.

Phat is the reciprocal of 1 3/C?

(a) 8&/M Turn to page 90
(b) 11/8 Turn to pace 78




Page 34

Incorrect.

Surely you remember that to multiply fractions, we

take numerator times numerator. and denominator

times denominator.

Example:

(g ]
x
I

2/3 x 4/7 = 8/21.

(¥}
>
-

Go back to page 12 and try again.




Page 35

Correct. So now ve have 4 : 2/3 = 6. DBut you should
notice that 4 x 3/2 also gives 6. Therefore, the
procedure we are going to use for division is multi-

plication by the reciprocal of the divisor.

Example:
3+1/6=3x6/1
and 6 + 3/2 =6 x 2/3
17 /5 =7 x 2?2 .
(a) 2/5 Turn to page 31
(b) 5/2 Turn to page 43

(c) 1 need help with reciprocals
Turn to pace 100




Your answer was "divide by 2." €ood

Dividing a number by 7 is the same as:

(a)
(b)
(c)

Page 36

multiplying by 7
multiplying by 1/7
dividing by 1/7

con m R AR Aras

N AB A s Wb R ik A

Turn to page 66
Turn to page 42
Turn to page 26

s o b Bt
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Page 37

Incorrect.

Motice that if you multipiy the two numbers you

B o DT STVERE- N eI RIS SR Py

picked together you will not cet 1.

——

REFEIBER: The product of two reciprocals

is aiways 1.

b e SV ARy

Are 3 and 1/3 reciprocals of each other?

% (a) VYes Turn to page 47
é (b) Mo Turn to page 53
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Page 38

But you must reduce all answers to lowest form before
you can consider yourself finished.

45/30 reduces to 3/2 because

45/30 = )EA’/‘;‘% = 3/2.

Reduce 20/28.

(a) 5/7 Turn to pace 40
(b) 4/3 Turn to page 39




Page 39

Incorrect.

You need some help reducing fractions. Go to page 20

of Unit 3 for some more work on reducing fractions.

Then return to pagce 18 of this Unit.

PRSI}
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Correct!

Let's continue.

what is 371

(a)
(b)
(c)

8/7
2/7
7/2

Page 40

Turn to page 14
Turn to page 50
Turn to page 54




Pace 41

Incorrect.

The model

N

\

5 divided by 10. You almost had it.

Go back to page 25 and try again.

shows 5/10 or

.
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Page 42

Very good so far. But can you carry this reasoning

one step farther? Let's see.

N U SPMPISErRr SISl Saspevep ey DOTELOEEUIET S e st a e

aTRA R AreL s .

B

Multiplying a number by 2 is the same as:

i s cmasn

(a) dividing by 2  Turn to page 63
(b) dividing by 1/2 Turn to page 70

(c) muitiplying by 1/2
Turn to page 46




Page 43

e ARG G g e L s SN NGNS P ATt LN A

5/2 is correct!

i o 0 AR e

et aab Bt

i' 3 What is the reciprocal of 2 1/3? §
» 1 (a) 73 Turn to page 78 3
E. . (b) 3/7 Turn to page 85
é. (c) I don't know Turn to page 100




Page 44

Incorrect.

The symbol + is read “divided by." The"divided by"

number is always the divisor.

Example: 2/3 ¢ 6/7 is read 2/3 divided by 6/7.

Therefore, 6/7 is %the divisor.

The divisor of 5/8 ¢« 7/4 is:

(a) 7/4 Turn to page 73
{(b) 5/8 Turn to page 83




Page 45

Your ansver was 2 and 1/2. Correct.

e

VA o w5 B

AW ot o A b TR RIS

[PETEI

Consider the number 1. Is it a reciprocal cf itself?

(a) Yes Turn to page 47
(b) Mo Turn to page 61 f




Page 46

You didn't read page 60 very well.

. L

Go back and reread the material paying special
attention to the underlined words. You should do

Okay on your next selection.

Go back to page 60.
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Page 47

"Yes" is the correct ansver. i

Mhich of the following are reciprocals of each other? ;

(a) 2/5 and 5 Turn to page 52
(b) 2/5 and 2 Turn to page 79
(¢) 2/5 and 5/2 Turn to page 97




Page 48

You are having trouble with the basic cperatiohs of

multiplication and divisioh as applied to iﬁtegers.

Go see your teacher and tell him your problem.

Then return to page 15 of this Unit.




Page 49

Good.

e e e - W o A Mool ot Mkt g e WK 4 RAN 2
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{low this one:

NVt Ko

The reciprocal of 1 5/8 is:

(a) &/13 Turn to page 86
(b) 8/5 Turn to page 52

»
1
{
]
{
3
v
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Page 50

Your last answer was correct!

fou are doing fine. How get Bookiet I1 of this Unit

and continue with page 101.




You didn't read page 70 carefully enough.

Go back and reread pace 70.
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Page 52

Incorrect.

PEMEMBER: The product of two reciprocals is 1.

tet's look at this problem:

Is the product of 3/2 and 2/3 equal to 1?

(a) VYes, and they're reciprocals  Turn to page 97
(b) Mo, and they're not reciprocals Turn to page 53

(c¢) 1 don't know vhat the word
“product" means Turn to page 64




Page 52

You seem to be having troubie.

Ask'your teacher for help and then return to page 100
of this Unit.




Page 54

Incorrect.

e never invert the dividend. e always multiply

by the reciprocal of the divisor.

8)7 + 2= 4/7 x 1/2 = 4)14 = 2/7.

When we divide 2/3 by 5, this is equal to:

(a) 3/2 x5 Turn to page 15
(b) 2/3 x5 Turn to page 16
(c) 2/3 x1/5 Turn to page 12




Page 55

Incorrect.

The model you chose shows 10 = 2. tlow we know that
10 + 2 does NOT equal 10 : 5, don't we?
(a) VYes Then turn to page 25 and
make another selection

(b} No Go see your teacher and then
return to pace 15 of this Unit

g




Page 56 4

How many units of 2/3's? ‘llell, let's count them.

(a) There are 6 Turn to page 89
(b) There are 4 Turn to page 58




Page 57

Very good. 1 is a reciprocal of itself.

Rl G MV St ) LU g SN $3 20 R A LR AT Sk R R D) £

T
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Are 2 and 1/2 reciprocals of each other?

AETE VT

(a) VYes Turn to page 47

E (b) Mo Turn to page 100 3
;
) ]
“




Pace 58

Come now. 1 know you can count!

Let's try to get the richt answer. Co to page 80 ;

and try again.




Page 59

"
4
1

A

2

0.K., you're on the right track now.

BT & A »
TR LRSS LRSS

5 tultiplying a number by 2 is not equal to dividing

TR

the number by 2...
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5 Then multiplying by 2 is equal to:

(a) dividing by 1/2 Turn to page 70
(b) multiplying by 1/2 Turn to page 46

!
i
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3
3
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* Paca 60

Correct!

5 You should have observed that the same model that

i1lustrates 1/5 of 10 also illustrates 10 # 5.

I11'PORTANT
Therefore, any model that shows division by & and

multiplication by 1/5 gives the same result.

Multiplying a number by 1/2 gives the same result as:

(a) multiplying by 2 Turn to page 26
(b) dividing by 2 Turn to page 36
(¢) dividing by 1/2 Turn to page 46




Okay. That's better.

Does 2/3 ¢ 5/7 = 5/i

(a) VYes
(b) Ho

Page €1

2/3?

Turn to page 81
Turn to page 76

e ane ke nes




Page 62
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You are moving along nicely nou.

Nnar s WA w0

Now do this one.

What is the reciprocal of 3 1/2?

(a) 7 Turn %o page 37
(b) 2/7 Turn to page 86
(c) 7/2 Turn to page 67




Page 63

Incorrect.

Does dividing a number by two give you the same answer

as multiplying by two?

In other words, does 12 x 2 give you the same answer

as 12 ¢ 2?7

(a) VYes Turn to page 48
(b) o Turn to page 59




Page 64

A product is the result of multiplying two or more

numbers together.

Example: The product of 3 x 2 is 6.

Go back to pace 52 and make another selection.




Page 65

Good! lle are doing very well now.

Here's another.

Does 3/8 = 1/2 = 1/2 + 3/8?

(a) VYes Turn to page 96
(b) ilo Turn to page 77




Page 66

Incorrect.

Let's see how it siuould be worked. :

7/8 5 3/4 = 7/8 x &/3 = 7—1——’2‘-%-’3 = 7/6.

Try this one. i

YA ST TN S AT IR TP AL AT R e TR R NN

2/7 + 1/3 =72 j

E (a) 6/7 Turn to page 95
(b) 7/6 Turn to page 71
5 (c) 2/21 Turn to page 90

ey ————



Page 67

Incorrect.

First, you write 3 1/2 as a fractiorn and you get 7/2.

Second, you invert to find its veciprocal.

llhat is the reciprocal of 6 3/4?%

(a) 4/13 Turn to page 52
(b) 27/4 Turn to page 69
(=) 4r27 Turn to page 49




Page 68

You seem to be havinu trouble with eguivalent

relationships.

Go to Unit 3 and upon completion come back to page

15.
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Page 69

To invert means to turn upside down.

Examples:
Yhen we invert 1/2, we get 2/1.

Jhen we invert 3/13, we get 13/3.

WYhen we invert x/y, we get y/x.

Now- go to page 97 and make a selection.
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Page 70

You should have discovered that dividing by 2 is the

same as multiplying by 1/2.

Because 2.is the reciprocal of 1/2, dividino any

number by 2 is the same as multiplying by the

reciprocal of 2.

24 + 6 = 24 times the of 6.
(a) divisor Turn to page 51
(b) reciprocal Turn to page 75

(¢) I don't know what a reciprocal is
Turn to page 100

i s




Page 71

Sorry, but you missed it.

1et's look at the steps and see where you went wrong.

First, we have the question 2/7 = 1/3 = 2.
Second, division is the same as multiplication by the

reciprocal 2/7 x 3/1 = 2.

Third, we multiply the two fractions and reduce if

necessary %—%—%- = 6/7.

Now you try it.

3/5 £+ 2/3 =7
(a) 10/9 Turn to page 90
{b) 15/6 Turn to page 82
(c) 9/10 Turn to page 95

&




Pace 72

Okay, so far:

Since integers can be written as fractions, (example:

3 can be written as 3/1), we find the reciprocal of an

integer by writing it as a fraction and then inverting

it.

The reciprocal of b5 is:

(a) 1/5 Turn to page 62
(b) 5N Turn to pace 37

(c) Help! Turn to page 100
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Correct!

517 ¢+ 3/2 = ?

(a) 5/7 x 2/3
(b) 7/5 x 3/2
(c) 5/7 x 3/2

Pace 73

Turn to page 65
Turn to page 44
Turn to page 32
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Pace 74

Incorrect.

Isn't 1 x 1 equal to 1? Then 1 is a reciprocal of

itself.

Turn to page 47.

e W
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Pace 75

Let's discuss division of fracticns in detail nov.
Consider the problem 4 + 1/3. This can be stated as
"How many 1/3's are there in 42" lie can illustrate

this by means of a model. Look at the figure to

\::" *
your vight. ‘ R

'e can see 3 such units of "1/3" in each circle.
Four circles times 3 gives us 12 such units in all.

Hence, 4 = 1/3 = i2.

Consider 4 + 2/3. Statina

it in the form of "How many

2/3's are there in 4?", we can

count units of "2/3's."
(a) © Turn to page 35
(b) 4 Turn to page 80

(c) 12 Turn to page 56




Page 76 %

No is the correct answer. ;

Here is another problem.

Does 2/3 = 3/5 = 3/5 + 3/27

(a) VYes Turn to page 90
(b) Ho Turn to page 84

e e e p—




Page 77

“tio" is the correct answer.

Mow let's work the problems completely.

7/8 ¢« 3/4 =2

(a) 6/7 Turn to page 66
(b) 7/6 Turn to page €8

(c) Neither answer is correct
Turn to page 92

e e e 4 e




Page 78

You need more work with reciprocals.

Go to page 100.
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Page 79

Remember: The product of two reciprocals is 1.

Let's look ai this problem:

Is the product of 3/2 and 2/3 equal to 1?

(a) VYes, and they're reciprocals Turn to page 97
(b) ilo, and they're not reciprocals Turn to page 53

(c) I don't know what the vord "product' means
Turn to pace 64

i

s,




Pace 80

Incorrect.

How inany units of "2/3's"? !ell, let's count them.

lr'=‘: l k\)
‘\U N/
U
1 +1 = .

(a) There ave 6 Turn to page 89
(b) There are 4 Turn to page 58




Pace 81

Ooops: You made a mistake.

Mow you know that:
2/3 =+ 5/7 = 2/3 x 7/%
and

5/7 = 2/3 = 5/7 x 3/2.

Mow, does 2/3 x 7/5 = 5/7 x 3/2?

(a) VYes Turn to page 68
(b) Mo Turn to page 76

e st mtata £




Page 82

Incorrect.

When we divide, we find ONLY ‘he reciprocal of the

divisor.

In the problem 3/2 ¢ 4/7, the reciprocal of the

divisor is:
(a) 7/4 Turn to page 73
(b) 47 Turn to page 100

(c) 2/3 Turn to page 44

©




Page 83

Come novi. You're not trying.

6o back and reread pace 44 and try again.

"




Page 84

“lio" is correct.

Let's work a few out completely.

4/5 + 3/10 = ?
.
f (a) 25/6 Turn to page 82
(b) 3/8 Turn to page 91

(¢) 8/3 Turn to page 87
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Page 85

Your answer was 3/7. Very cood! You seem to be

getting it.

Let's continue.

14 =+ 2 1/3 is equal to 14 times the reciprocal of

2 1/2. Uriting this, we should have:

14 = 2 1/3 =14 x 3/7 \, as 3/7 is the reciprocal

of 2 1/3.

Now you try one.

8:13/8=8x ?

(a) 13/8 Turn to page 51
(b) 11/8 Turn to page 33
(c) &/M Turn to pace 90
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Page €6

Very qood! Here is the last thino you need to know. g

That is--The number 8 (zero) has no reciprocai.

In other words, what number times zero gives "1"?

2 i 300 Ak

There isn't any, is there?

Now go to page 90 and continue your Unit on division

of fractions. i

Areh smcn t s A A e A




Page 87

8/3 was the correct answer.

Mow do this ona.

NP STV

: 7/8 + 3/4 = ? 1
(a) ©/7 Turn to page 91 i
(b) 7/6 Turn to page 18

: (c) 32/21 Turn to page 82
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Page &8

Okay, so far. 7/6 is correct. ‘

tet's try agein.

RWERN

4/5 + 3/10 = 2

(a) 8&/3 Turn to page 18
(b) 3/8 Turn to page 90
(c) 25/6 Turn to page 82




Page 89

Good.

Mow go back to page 75 and reread the matewial care-

fully. Then rework the problem on that page.




Page 20

How let's look at division of fractions throuch the

use of a general rule.

The method or rule that we will use to explain

division of fractions is:

|
Division of a number is equal to the number

multiplied by the reciprocal of the

divisor.

Example: 2/3 ¢ 1/4 = 2/3 x 4/1 = §/3.

2/3 + 5/7 = ?
(a) 2/3 x 5/7 Turn to pace 32
(b) 2/3 x 7/5 Turn to page 65
(¢) 3/2 x 5/7 Turn to page 82

(d) 3/2 x7/5 Turn to page 82

e




Page 91

Incorrect.

Let's look at an example to see how it's done.

Example: 2/3 ¢+ 4/5 = 1?2

First, we change the division problem to a multi-
plication problem by multiplying 2/3 by 5/4 which is

the reciprocal of the divisor.

Hence, 2/3 =+ 4/5 = 2/3 x 5/4.

Now multinly and reduce. 2/3 x 5/4 = 3'%—%—g_f' = 9/C.
Try this one.
5/6 + 1/3 = ?

(a) 5/2 Turn to page 99

(b) 18/5 Turn to page 82

(c) 2/5 Turn to page 94
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Page 92

Incorrect.

Let's look at the solution to this problem.

7/8 + 3/4 = 7/8 x 4/3 = 28/24.

However, 28/24 will reduce to:

(a) 6/7 Turn to page 39
(b) 7/6 Turn to page 88
(c) 14/12 Turn to page 33
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Paae 93

Very good. That's correct. j

|
3
;q’
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York this problem.

5/6 + 2/3 =7

(a) 9/5 Turn to page 82
(b) 5/4 Turn to page 18

{c) 4/5 Tarn to page 98
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Page ¢4

trona again. Let's Tlook at how it is worked.

5/6 + 1/3 =5/6 x 3/1.
ilow, 5/G6 x 3/1 =

gig = 5/2.
Try this one.
1/84 + 2/5 = ?
(a) 8/5 Ho. VYou multiplied by the

reciprocal of the dividend.
Turn to page 75 for more work.

(b) 10 Incorrect. Turn to page 15 and
study division in detail.

(c) ileither of the above
Correct. tilow that you have the
idea, let's to go page 9C and
work a littlie more carefully.

o U




Page 95

Good' Your answer was correct.

Do this problem:

3/4 + 1/2 =2
(a) 3/8 Turn to page 15
(b) 2/3 Turn to page 91

(e) 3/2 Turn to page 93
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Pace 96

Doggone it! I thought you had it there for a minute.

I'm sure you remember that 3/6 + 1/2 = 3/8 x 2/1
and that 1/2 ¢+ 3/8 = 1/2 x 8/3.

Mow I ask you, "Does 3/8 x 2/1 = 1/2 x 8/3?"

(a) VYes Turn to page 68

(b) HWo Turn to page 61




Page 97

Correct! Let's continue.

You have probably noticed that to find a reciprocal

of a fraction, ycu just invert it.

The reciprocal of 3/8 is:

(a) 3/8 Turn to page 52
(b) 8&/3 Turn to page 72
(c) 8 Turn to page 37

(d) 1 don't know what the word "invert" means
Turn to pace 6




Page 98

Shucks! You were almost through.

You're supposed to multiply by the reciprocal of the |

divisor, not the reciprocal of the dividend.

In other vords, you should have

5/6 ¢« 2/3 = 5/6 x 3/2 and not

mwnve

5/6 ¢+ 2/3 = 6/5 x 2/3.

Go to page 91 and o from there.

ERIC

Full Tt Provided by ERIC.




Your answer was 5/2.

Try this one.

5/12 «+ 1/4 = ?

(a) 5/3
(b) 3/5
{c) 5/48

Page 99

Good, that's correct:

Turn to page 93
Turn to page 75

Turn to pace 15




Page 100

So you're having trouble with reciprocals. tell,
let's look at the definition and a few examples.

Then I think you'll be okay.

Reciprocals Defined

Mhen twc numbers have a product of 1, each of the

numbers is called the "reciprocal” of the other.

Examples: (1/4)(4) =1  (2/3)(3/2) = 1
(6/2)(2/5) =1

Mow, 1/4 and 4, 2/3 and 3/2, and 5/2 and 2/5 are

reciprocals of each other,

Which of the following numbers are reciprocals of eacn

other?

(a) 6/5 and 1/6 Turn to page 37
(b) 1 and 1 Turn to page 57
(c) 1/4 and 1/4 Turr to page 37
(d) 2 and 1/2 Turn to page 45
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